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A is a unital C* -algebra

Tho Qs about C☒ -alg :

① Describe the ideal structure / Is A simple ?

② Describe the tracial structure / Are then any ? If yrs , is then

a unique trace ?

- Ut r be a discrete group ,
let IT be a unitary representation

IT :P- BIH
, )

take span so span{ Mlg ) : GET } ≤ BIH) subalgebra which

is self adjoint

to mace C. * alg spat
""{it /g) : gen ? = : C.

*
(n)

IT

-Fact: every unital C* -algebra is of the form C¥ ( r ) for

some M and some 1T

no canonical choice for IT & P
,
tons of them work

make choice of IT , M thin PAC (r) action drano b)

g. a
:= Ttg) a itcg)*

E✗e : A state E an C. * (r ) is a trace ⇔ ≈ is r inerrant
IT

i.e.
, Tlg - a) = clay V-g.fr ,

a c- CECA



-I a empt space ⇒ CCI) Mimi C "-alg define

PR I × : M - Homo /E)
which Indus an actor

rscc⇒

- Suppose e:C# (r) → A is ucp & Aisa P - C* - alg

e is f- equivariant if ecg.xt-g.ecxjttxc-C.FM, get

'

Fac If 4 : A → B is ucp then Iy = {AEA : 4Ca*a) - o} is a

clod left ideal and Ay = { a c- A : xCa*a1=Yla* ) that /✗ (aa*)= xcalxcaxy
Multi domain is largest C*- Subang St 41A

,

is a * homom

Take a-CAy.BE A 4 (ab ) = Ha )Xlb)

✗ ( ba ) = ✗(b) ✗(a)

a C- It

?⃝ 41 * (g)* a*añGI)=gtyCa*a )
altlg ) c- IT

• General strategy :

suppose Far - C* - alg Best for evey M-C*_a 'S A

Fr -equivariant ucp map e : A → Bn



Aside

category € ,
object IEC is insectile ⇔ A C- B E E

B

f
"
-idiagrams
A- ±

7 ! map y figure 's ?)

-

Suppose it , ran it 7 ! e :C:(n )→ Br which is

faithful ⇒ Ice -_ 0

⇒ (r) is simple .

wuy?_
bit II C¥lr) anout A := C¥C% which i > ar-c* - alg

g. a- = g.ci hell - defined (check]

j : cii-YM-fr.equ.ir Upc map

1
Br ⇒ I = 0 .

-

A ≤ n signup ⇒ rank gwpacia

induces a representation try :p -12 (01%1) gen , %lY% )

(g. 9) 1hr)
= 7 1g -' hrs



If I=P then we get the trivial reprimand

A-{e) gies u the regular representation

C*+%( r )
= CIG)

-Thrm(Pown197 Cr* (Fn) is simple and has unique trace

- thr.vn/K.-Scarparo20Z1/2022):--TcnptHws0wH ,
Ut

PA # be a bonding action
. let ✗ C- I

and

% :={ gem : gx = × }
.
Then 7! r-egu.ir up e C

*
(e)→ Bn
"?⃝ :-. *

×

script Havana

-De : let MAI . We say the actor is a boundary

ach-cmiffV-xeEV-UEP@bI7lgiJErstg.v⇒*f×
I

g.v( E) = V( g-
( E) Borel probability

measures

-Rip: 7!mÉgbonoan dinoto by Sr

⇒ Br = Clan) V-n-bandan-X-y-l.fi - equv cant function
b : Sr → E

e ( Italy )) = ✗
b"mt# ← clopen set

↓
{× :gx=x}


